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tal surface.

1Z0n

traight line on a smooth hor

The particle P collides with a particle O of mass 1.2 kg which is at rest on the surface.

1S moving 1 a s

A particle P of mass 0.7 kg

2.

Immediately before the collision the speed of P is 6ms™'. Immediately after the collision
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(b) find the magnitude of the impulse exerted on Q in the collision.
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At time ¢ seconds (¢ > 0) a particle P has velocity vims~!, where

3.

(622 + 61)i + (37 + 24)j

V=

When ¢ = 0 the particle P is at the origin O. At time T seconds, P is at the point 4 and

j), where A is a constant.

v=A>

(©))
(©))
©))

(b) the acceleration of P as it passes through the point A4,

(a) the value of 7,
(c) the distance OA.
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3a

3a

Figure 2

The uniform lamina ABCDEF, shown in Figure 2, consists of two identical rectangles with

sides of length a and 3a. The mass of the lamina is M. A particle of mass kM is attached
to the lamina at £. The lamina, with the attached particle, is freely suspended from 4 and

1.

1ca

th AF at an angle 6 to the downward verti

um wi

libr

in equi

hangs

(10)

, find the value of .

_4
7

Given that tan 0

6 2 8
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